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0101 %%k 348 17 /N 78 NS N
0122%%s%k0417 G 1T B AL 4 A
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0923061 1 L T AL W 4 K
1101%k%%0505 G TEN LA
07223%k%%1232 i 42 5 T AL & A
0101 3%%%%4220 2= TEN LA
1421 %1128 15 B 471 T HE AL & A
0722%%%%1233 Z e TEN LA
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1201 %#%x2337 ¥ 3 N Y r
0401 %%%%3152 EEE 4 e B A




1101%%xx0316 2 T3k A F AN A

072 1%%k%3138 JE & % SR A N A

090 1 ##%x0424 EE3I S A N A

090 1 #sksksk4 802 g SR A N A

070 1%%%%1102 4 i e ksl

0127%kkk2314 # R A B AN A

04813109 A E S A N A

0401 %2019 B E SR A N A

090 1%%%%5926 i 7K & e sl

010 1***x6107 Tt BEEEEHFHIEE
050 1%*%x0117 17 % ¥ BEEBE SR FHIEE
010 1**%%5303 FOE BEEEEHFHIEE
0101%%%x0904 B i BEEBESHFHIEE
010 L***%3120 il BEEBESHEFHITE
01011491 ZEN BHEEBESHEFHIEE
0401%%%%0106 1= 1= BEEEEHFHIEE
0101 %*%%4646 % W A BEEEEHFHIEE
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